Fractions

IMPORTANT POINTS
I. FRACTION:
A fraction is a quantity which expresses a part of the whole.
FRACTION = —omerator_
Denominator

Type of Fractions : _
1. Proper Fraction : A fraction, whose numerator is less than its denominator, is called a proper

3 4
E,E etc.

2. Improper Fraction : A fraction, whose numerator is greater than or equal to its denominator,

fraction.e.g.,

is called an improper fraction. e.g., 5°13°2°3°6 etc.

3. Mixed Fraction : A mixed fraction consists of two parts:
(7) an integer and (i7) a proper fraction

2
e.g.,S% is a mixed fraction, consisting of an integer (5) and a proper fraction(i)-

4. Like and Unlike Fractions : Fraction having the sc.ne denominator but different numerators are

3 7

called unlike fractions e.g., %, é, 352 3 otc. are like fractions.

If denominator of the given fractions are not same, the fractions are called unlike fractions

1367,
€8 7°3°9° 70

5. Equivalent Fractions : If two or more fractions have the same value, they are called equivalent
or equal fractions.

o 126 8
211216

CON VERTID]'IiI OF FRACTIONS :
(/) Mixed Fraction into an Improper Fraction :— Multiply the integral part by the.denominator

etc. are equivalent fractions as % = % _5_38

1216

and to this product add the numerator e.g., 2%

the required improper fraction = % = %
(ii) Improper Fraction into Mixed Fraction :— Divide numerator by the denominator. The
quotient of this division is the integral part and the remainder obtained is numerator of the
required mixed fraction.
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Remainder .2

23 .
For example : 3 Quotient Numerator | 3
(iii} Unlike Fraction into Like Fractions:
(1) Find L.C.M. of the denominators of all given fractions.

(2) Divide L.C.M. by the denominator and multiply the quotient to numerator and denominator of
fraction.

23 1
e.g, 5,5 and 3

L.C.M. of denominator 7, 5, 3 = 105

Now, in % dividing L.C.M. by 7 Quotient = 15

L 2x15_ 30
T TIx15 105
-35 dividing L.C.M. by 5 Quotient = 21
. 3x21 63
" 5x21 105
-;- dividing L.C.M. by 3 Quotient = 35
C1x35 35
" 3x35 105
L2333 4130 6 43
~ 705 2937 7057 705 "¢ 103
EXERCISE 14(A)
Question 1.
For each expression, given below, write a fraction :
(2outof 7=...........

(i)5outof17=...........
(iii) three-fifths = .........
Solution:

2
(2outof 7=% )
(i) 5 out of 17 = T7
(iii) three-fifths = 5

&3

Question 2.
Fill in the blanks :
) % TS fraction. (i) % [ —— fraction.
(iii) :—:% L fraction. (iv)  The value of ~§-= ............ .
(v) The value of _—55- = rerenrens . (vi) 3—1'% 1S cervereerens fraction.

L 2 N .
(vii) 5 and 15 are ........._.fra.ctmns.



23 23
(viii) 7 and 15 2T wrrrnnen fractions.
. 6 28 .
(ix) I and T R fractions.
I 3 i
(x) 24 and 35 are not ......cevn. fractions.
. 2 3x13+....
(xi) T
e 3
(xii) —43 S rrrrrreies T aervierene o
Solution:
(i) Proper
(i) Improper
(iiif) Improper
(iv) 1
(v) -1
(vi) Mixed
(vii) Like

(viii) Unlike fraction
(ix) Equal fraction

(x) Like

(xi) + 2 =;‘—;

(i) - (4x§+3) =_%
Question 3.

From the following fractions, separate :
(i) Proper fractions
(ii)lmproper fractions :
247 1 2018 27
9° 3157 20" 11’ 23 ™M 35
Solution:
We know that proper fraction is a fraction whose numerator is less than its denominator
and improper fraction is the fraction whose numerator is greater them its denominator :

2 7 11 18 27

9'15° 20° ;3 and 35 are proper

4 20
fractions and 307 & imporper fractions.

Question 4.
Change the following mixed fractions to improper fractions :



Change the following improper fractions to mixed fractions :

Change the foIIowing groups of fractions to like fractions :

1
) 25 (i) 35
@) T+ (iv) 2—-

3 M) 210
Solution:

_ 1 2x5+1 10+1 11

2—= = = —
@ 5 5 5

1 3x4+i 12+1 13
(‘)3 4 4 4
cooml _Tx8+1 _56+1 57

(iid) 73— g =3 =3

) 1 _2x11+1_22+41 23
O T U T i T e
Question 5.

100
O @) 13
() -2 ) 2
Solution:

100 .15 .4
@47 =517 (”7 =1
(iii) _@ =298

7

113 8

(iv) u——-—v'?—ig
Question 6.

1 2 3 1 5 7 11
(‘33545 5 312" 10
. 7 5 9

(i) 7’3’14’15

Solution:



1 2 3
@357

L.C.M. of denominators 3, 5, 4, 6 = 60

|

213, 5 4, 6 -
3(3, 5 2, 3
1, 5 2, 1
=2x3x1x5x2x1=60
Now, Lo 1X20 20
"3 3x20 60°
3___2x12_§ E_3x15_i|§
5 5%x12 60’4 4x15 60
1_1x10_10 |
6 6x10 60
123 41_.2024 4510
3'5° 4 M5 T60°60° 60" 60
57 11 3
) 531210
L.C.M. of denominators 6, 8, 12, 10
=120
2|6, 8, 12, 10
203, 4, 6, 5
303, 2, 3, 5
, 2, 1, 5
=2x2x3x2x5=120

5_5x20 _ 100
W6 T 6x20 120°
b4

7 _7x15 105 11 _11x10
8 8x15 120712 12x10
_lo. 3 _3x12 36
120’ 10 10x12 120
.57 11 3 _100 105 110 36
6812710 1207 120° 120° 120



27 5 9
i) 7574 16

L.C.M. of denominators 7, 8, 14, 16 = 112
2|7, 8 14 16
717, 4, 7, 8
411, 4, 1, 8
L L 1, 2
=2xTx4x2=112
_2_=2x!6=£.1=?x14
7 7Tx16 1128 8x14
98 5 5x8 40 9

Now,

_9x7 _ 6
16x7 112
2715 9
T 7'8714° 16
_32 98 40 6
T2 1127 1120 112
EXERCISE 14(B)
Question 1.
Reduce the given fractions to their lowest terms :
8 . 90
. 18 .. 40
(iii) 31 (iv) 20
105
o) =5
Solution:
8 8+2 4
D1=10-2"5
iy R-0+35_2
W 35 75:25 3




Question 2.
State, whether true or false ?

2 10 35 5
(1'}5 15 {"j42 6

iy 3=1 mr=1t

~d|— wn|a

9
M 7=1

Solution:

£_35+?_g
2°12:7 6
.5

.—~=E,True
6 6

(m) 4 , False

1
(r'v) 1?
%W*g 1%=7x;+1=%
%:%, False
Now, %;l:}= ?><;+1 %_
% %—,Falsc
Question 3.
Which fraction is greater ?
(;} —or E (i) % or %

11 26
(iii) — 13 or —



Solution:

N
W gor3
LCM. of5,3=15
N E_3x3“1
oW, . 5 5x3 15°
2 2x5 10
3 3x5 15
E}—E— : E}E [as its numerator is greater]
15°15 373 gre
3
(if]%urz

Converting in like fraction,
5x4 20 3 3x9 27
9%4 36" 4 4x9 36

B . . '
> ) [as its numerator is greater]

— e

-l-nr-z—ﬁ
(i) 13 °7 35

Converting in like fraction,

11 _11x5 55 26 26x2 52
14 14x5 70° 35 35x2 70

ﬂ - E [ 't t 1
TREET: as its numerator is
greater]
Question 4.

Which fraction is smaller?

3 4 . 8 A
(i) Enrg (17) T or 7

oo 1o 10
(i) 26 ° 39



Solution:

Converting in like fraction

3_3x5_15.4_4x8_ 3

8 8x5 40’5 5x8 40

3 4 i .

3 <3z [as its numerator is smaller]
. 8 4
(i1) ]

Converting into like fraction
i_SxT _E‘i_ilxlﬁ_ﬂ
15 15x7 105" 7 7x15 105

8 4 ) X
G < 7 [as its numerator is smaller]

(iif) = or —
Converting the like fraction
7 7x3 21 10 10x2 20

26 26x3 78°39 39x2 78

0 7 it tor is smaller]
39 26 as 1ts numerator 1s smaller

Question 5.
Arrange the given fractions in descending order of magnitude :
5 13 7 4 T 11 3

0162428 W35 152007
5309
" (1) ?,E, 11
Solution:
2 116,248
) 1_-1‘%,% 21812,4
2| 4,6,2
2] 2,31
3] 1,31
RN

SLCM. of 16,24, 8=2x2x2x2x3=48



53
(iii) 73
L.C.M. of numerator 5, 3, 9 = 45

[..C.M. of denominator 16, 24, 8 = 48

Converting into like fractions
5 5x3 15 13 13x2

16 16x3 48° 24 24x2

_ 26,
- 48"

7_7x6 42
8 8x6 48
Now, arranging in descending order
113

8’24716

o4 7 113
(i) 5:75°30°3

L.C.M. of denominator 5, 15; 20, 4 = 60

Converting into like fractions,

4_4x12_48 7 7x4
5 5x12 60'15 15x4
11 11x3 33 3 3x1§

20 20x3 60" 4 4x15

_28.
=
45
60

Now, arranging in descending order,

4311 7
54°20°15
o
&

|'~D ~-1) A

315, 3, 9
5[5, 1, 3
31, 1, 3
R
=3x5x3=45
5x9 45 3 3x15 45
" 7x9 63'8 8x15 120
_9x5 _45
11 11x5 55

We know that the numerator being
same, the fraction having the smallest
denominator is the biggest fraction.

ie.

LB A A
" 55763° 120
9 5

23
11?18



Question 6.
Arrange the given fractions in ascending order of magnitude :

| <] =] &
=N
e
—

=4 x4x3=48

L9 _9x3 27 7 _Tx4 28
16 16x3 48 12 12x4 48

1 1x12 12
4 4x12 48
Arranging in ascending order,
12 27 28
48’48’ 48
1 9 7



.52 81
" 5793
L.C.M. of the denomunator 6, 7, 9, 3

=126
316, 7, 9, 3
l2, 7, 3, 1
=3x2x7x3=126
.5 _5x21_105 2 +2x18 _ 36
"6 6x21 126°7 Tx18 126
8 8x14 112
9 9x14 126°
1 1x42 42
37 3x42 126

Arranging in ascending order,

36 42 105 112
1267 1267 126’ 126

1 L

lw o) wn
WO | oo

e 2

?. ¥

5
(i) 325

l_'m[M
""':ae

(.M. of the denominator 3, 9, 6, B

72

L

3
3-
1

9
9,
3

k]

Il BA Bz
Bl sloe

=2x3x3x4=72
_2_2:-<24 48 5 5x8 40
3 3x24 72°9 9x8 72
5 5x12 60 3 3x9 27
6 6x12 72°8 8x9 712
Arranging in ascending order,

27 40 48 60
72772772772

Question 7.

| bought one dozen bananas and ate five of them. What fraction of the total number of
bananas was left ?

Solution:

Number of bananas bought = 1



Dozen =12
Number of bananas eaten by me =5
Number of bananas left =12 -5=7

Fraction = 13
Question 8.
Insert the symbol ‘=" or >’ or ‘<’ between each of the pairs of fractions, given below :
LI o3 9
@ 1779 @ 7 13
L 56T .3 8
(Fil) 61 ™ 8 (iv) 12 ™ 33
Solution:
6 5

(i) 19
LCM. of 11,9 =99

dE_SxIl_E
MY T 9x11 99
It i clear that = < —
t 15 clear that 99 99
6 _3

=1 9

39

(11)7,13

LCM. of 7,13 = 91

S 7 T Ix13 91
and = = 2x7 _63
M3 T 13x7 T 9
i e 2 < &
tlsceartaiglf-gl
3 9

= =<



56 7
(iii)

o8
L.CM. of 64, 8 = 64
56x] 56
" 64xl 64
7 T=8 56
8 8x8 64
It is clear that
56 56 56 7
64 64 64 8
5 8
v 5333

5 5x11 55

12 - 12x11 132
8 8x4 12

It is clear that

ss 312 5 8
5 32 5 8
132 7132 ~ 12 7 33

Question 9.

Out of 50 identical articles, 36 are broken. Find the fraction of :

(i) The total number of articles and the articles broken.

(i) The remaining articles and total number of articles.

Solution:

Total number of articles = 50

Number of articles broken = 36

Remaining articles = 50 — 36 = 14 »

Now (i) the fraction of the total number of articles and articles broken = W
_30=2 25
© 362 18

(i7) The fraction between the remaining articles

and total number of articles

EXERCISE 14(C)



Question 1.
Add the following fractions :

']i 4n:lE
(i) 4an 3

203
(i) an 10

7.1 3
(iii) 18 . 1-2— and]-&-

3 5
(iv) 33 2 arlo:t]:l8

28 1433
(v) 23, Jg and 3%

] 5 5
(vi) 3 1_} andE

Solutlon:

)1 and >
(1) 4an 3

7 3
= — 4 —
23
_Ix2 3 LCM of 4, 8 = 8
T 4x2 8 (LCM o )
4 3 _ M3 17 L1
8 8 8 8 8
2> and —
@) 3,275 a4
2 33 7
==+ — 4+ —
515 10

2><6 33x2 N Tx3
5>-c6 15x2 103
(LCM of 5, 15 and 10 = 30)

12 66 21
==+ — + —
30 30 30
_12466+21 99 99:3
30 30 30+3
33 3
3_

T 10 10



713
(iif) 13+12+14
Ix8+7 1x2+1 1x4+3
= + +
8 2 4

_15,3. 7 15x1 3x4 7x2
8 2 4 Bx1 2x4+4x2
_15 12 14 _15+12+14
-8 8 8 8

(LCM. 8, 2and 4is 8)
A _g1
8 8

: 3 1 .5
(iv) 34+26+1§

B 3:-<4+3+2><6+1 1x8+5

2 6 8
15 13 13 .
Z}—;wﬁ- (L.C.M. 4, 6 and 8 is 24)
156 13x4 13x3
= + +
4xfh 6Hx4 8x3
_90 52,39 181_,13
T24 24 24 24 24
28 11 d35
V) 29 g >y
26 11 23 26x2 11 23x3

— = +—+
9 18 6 9x2 18 6x3
(LCM of 9, 18 and 6 = 18)

Js2 n 69
8 18 18
52411469 132 13246
18 18 186
2
=—=?—



1 5 5
R Py S
) 2512 16
Ix8+1 5x12+5 5
= + e —_
8 12 16
25 65 5
8 12 16

(L.C.M. 8, 12 and 16 is 48)
25x06 65x4 S§x3
= + +
B8x6 12x4 16x3
150 260 135
48 48 48

1504260 + 15

- 48

_45_g4
48 48

Question 2.
Simplify:

(i) 2=-12
(i) 2

(iv) 3=-—-1

(viy 1-+2--1—
(vii) 4+3—- -3~
(vii) 6-3= ~27
(ix) 15-2—+3=
(x) 3I—+1=-2-—

(xi) 4=-2=—1-=—-=



Solution:

DI -"%°12 16

_Bx4 13x3  Mof12 16=4
" 1274 16x3 (LCMofl2,16=48)
92 39 92-39

48 48 48 .

a3 5 11 11 11x6 11x4
() 25-12=—-— =0
4 6 4 6 4x6 6x4

19x6  3x3 13x2
7x6  14x3  21x2
(LCM of 7, 14, 21 = 42)

_ 4 9 26
42 42 a2
_11449-26  123-26
42 42
Q7 E

42 ‘42



s 1,1 23 1. 13
6 6 12 6 6 12

_23x2 1x2 13

C 6x2 6x2 12
46 2 13 46-2-13

12 12 12 7 12
_46-15 317

12 12 12

6.{.1 li -
) 10 15
6 3 023
= — 4 =——_ —

1 10 15

B 630 N Ix3 232
T 1x30  10x3  15x2
(LCMof 1, 10, 15 = 30)
180 9 46
30 30 30
_180+9-46  189-46
30 30




143 23

30 30

. 3 5 3 7 19 17
R R T A b
_7x7 . 19x4 _17x2
4x7 Tx4 14x2

49 76 34 49+76-34 91

“W®TIW W 28
7 .1
_3~2-§—3E
D 4+34 3L
(vii) 3 "6
4 25 19
= — 4 —_— _ =
1 8 6

- 4x24‘+ 25x3  19x4
T 1x24  8x3 6x4
(LCM of 8, 6 = 24)

_9% 75 76

24 24 24

_96+75-76 95 3£
24 24 T 24

1
(viii) 6_35 —2-5‘

6

S8 7. 1
=

1 5

6x10 Tx5 11x2
1x10 2x5  5x2
(LCM.of 2, 5 = 10)

_60 35 22

10 10 10
_ 60-35-22  60-57 3
10 1010
45,1 .3 13 13 15
(ix) IE 26+34-—§- 6+T



_13x3 13x4 15x6_39 52 90
T 8x3 6x4 4x6 24 24 24

_39-52490 _129-52 _77 _, 5

24 24 24 24
1 .2 .1 7 5 9
@ 3313723734377

_ ?x6+5:~<4_9x3
T 2x6 3x4 4x3

42 20 27

EEVRRVERY]
_42+20-27
- 12
_62-27_35 _,11
12 1 12

_23x9 25x5 17x3 2xl
5x9  9x35 15x3 45x1

207 125 51 2

~207-125-51-2
B 45

_207-178 29
a5 45

EXERCISE 14(D)

Point to Remember :

BODMAS :- While simplifying an expressions we can involve six operation in following
orders.

B Stands for “BRACKET”

O Stands for “OF”

D Stands for “DIVISION”

M Stands for “MULTIPLICATION”

A Stands for “ADDITION”

S Stands for “SUBTRACTION”



Question 1.

(iﬂ%x%
(iff)%XB
(iv]%ﬂf%
3 .6
(V)SE){S?
1 .1 3 3 1
(W'}Ec'fg"z (\?I'z"}-,}rxgx-'-‘lg
1 .2 1
gl 2 1
(vm)ljxl?nf 2
Solution:
J 2 3Ix2 6
(1}-——)(—-: e
7 5 T=x5 35
4 3 4x3 4x1 4
(i) —x== = =
9 5 9x5 3x5 15
S o5 8 5x2 10
(7ir) IZXE_IZXT* o _?=3
T 3 7.3 3xl 1
) o = 6*17= 2.1 " 4
3 6 27 27
(‘l\«'} 3§X37—~?X-‘?—
27 x 27 ?29_131
8x7 56 * " 86
1 1 3 1.1.3 1 3 1xl
(W}zﬂfixz_ExSxd—-ﬁ-xE:zm;
Using 1 1 1 1 1
f___)(—z--
Bodmas 2 3 23 6|
.-f
(vii) ?ng“%—ix%x%____




T 7x09x5
1 2 1 4 9 35
iy 1=—x 1= l—m = —w — w —
(viii) 13 xlzof lp=3xox7
_4x9x5 15 _,1
T 3xTx4 7T 77
Question 2.
Simplify :
2 1 1 4
(i) -j 1'5 {II} 45_6
2 4 4
(itr) 1+ 3 {IV) §+ §'
1 3
v 2317
(vi) 2§x3%+2%
Solution:
(1) _
2.41.2.6_2 5_2x5_5
375 35 3 6 3x6 9
o oal.,4_9.4 .9 9 9x9
() 455 =3+5=3%3" 3.2
81 1
_?ﬁmﬁ
2 1 2 1 5 5 1
iy === == —_= =2
e R T
4. 4 4 9 4x9
™) 55393 9%a !
1. 3_7.7_7 4
M. 23713=3+373%7
4 1
=3713
L2 .1 4 8 7 12
(‘Pf} 23335—26—5)(5 9
:§x3x1=2x?)(3=4—2= i
372722 11 11 11



Question 3.

Simplify:
(#ii) ﬁ%x.ﬂ x5§
oy 2122 o1l 2

(vi) (%—%) ufié

(vif)
o
(viii) Eﬂfﬁﬂ-!-ﬁl}
Solution:
1 2 3
—of 2=+=
D% %775
1 16 3
=—X—+==
4 7 5
o1l d gl 5,1,
(i) 14X_EFTIEL4X2'
5
==x
8
(i) 6%x0x5% %x%x

3 1 3 5
{iv) EXIETT ﬂfZ—E-_

«:lfzE

7 8
_3,4,8_8
473799
12 1 2
{V} zz—ﬁ-ﬂf‘lix-i



7 3
9 8 2
e i — Y —
4 21 3
9 21 2 63 15
1373716 016

5 oS0 5,50 125 _ (17

4 9 4 9 18 18

(viii) % of 60 + 60 = % X



Question 4.
Simplify :

4
) 1 1 2 5 5 7
ovi) (3765 3 12)% 8 12
Solution:

(-32)_5 (2.2
@3-{n~"1)=° -
§ 36 55-8+36

1111 1
_55+36-8 83 6
11 1 '

. ,1_*(1_33_ _1 (5x7-8x3
(u)z'gs‘z' 40.

_1{35—24 1. }l]
T2 40 -2 {40
Ed




ool (s 33 7 (1115
“"}23'(52+34J'3'(2'*4J

2x1!+1x15J

f31x5_18x3] 1
L 8x5 5x8 )

(155 144) 1
—3 —_——— -
2

1 3 1
= — of — x —

12 12 24

1 | 1
= —_— =



Question 5.
Simplify :

G-
() 37476
3 [}i_gﬁ]xg .
@ 13577%9)7%

(ii) %nf ﬁ—l——-z—of li

8§ 39 °%
. lﬂf(i+j..).&.(§,_§.-]
() 3 15) \6 5
1 .3 1
()2 33x17+27

501 11
Ny 4= 33—+ —
vi) :[ g 12)

1y .2

(vif) %uf [lu-—-—] of 1=

y {L ](é_i](i_£+1]

i) (37 3)\a 5)7 (27577
5 3(1 2
() E_E{TI_{]

2 1. (2.1
w 43+ (3-3) (53]
3 .2 .1

Ll 3 2,1
(xi) ~2—|}f40+]4 nf29+25x(}

(i) (1+2%}+2%0f 2%—2
6 2 .2
(xiif) 2ﬁ Dfl?—.zvﬁ



Solution:

1

45 4 60 60
oy 3 el 2 51

(#if) 4Df5.8 30f24 .

147 3 147-48 99
2 2 32 32




: inf(l.g.l +(§__§)
) 35 3715) 7 6 5
=l0f(5_+3]+(35‘13)
30 15 30

_r 12 (1
T30 15 L30

_ 1,12 30 12_4

in 15 7 15 §

v) 2%—3%x1%+2%

_5.1,7.5

2 2 4 2

5 49 5 5 5 49
=3"3t3"2%3"%
_20420-49 _ 9 _ .1

8 8 8

. 45(31;H] _33(25 11 ~-
W) 2173 12) T T 3 T2

325, 12)_2(75)
708 T11) 722
33 75 225_1 1

— W m—— —_—

7 722 14 14

2
(Vi)

I
=]
=
—
3 =
I
fam—
M|'_'
=
hh
—
I

=]
=
—
i
b2
|
-]
o
=]
=
|~

Il
it a2 |t

]
hﬁ

—_
|
=1
H’

3

n
T T

,.,‘
=

=
—

3| —

I

tad | =
b
R
— B

15-16) , (35-28+10
20 ) 70

[-_I)L[E‘ _1 . -1.17
20 0/ 6 20 70
-1.70 1

W — 3 — ——

2017 204

l
o —
— e

=



_275-102 173
330 330

2 (. 1) (2.1
(x) 4ET(3—E)+(E—1§)

_14 (6-1 +(2x£

"3 2 5°6)

_E;(i},l 14 2 1

“37\2)73 =3%357%3
28 286+5 33 11 _1

1 3 2 1
) — +1= — 2
(xi) 201‘4() l40f29+25x[}

B 7 20 11
= 2 x4{]+zx?+?xﬂ
180+ 35 215

9 9

=204+ 40=
9

5,2 _,_ 10

111 CT 1
_l0-242_ 2321

121 121 121

6 2. ,2
(xi1i) Zﬁ of 1?72 T



_28 9.2
T 701
_28 9,24 36 24
T 7 1 111l
_3¢ 1 _3_,1

11724 2 "2

EXERCISE 14(E)

Question 1.

From a rope of 10% m long, 4§ m is cut off. Find the length of the remaining rope.
Solution:

Length of rope = lO%m'
Length of cut off rope = 4% mn

Remaining rope = (10% m=4 gm)

21 37
= =— = —
2 8
S 84-37 47 _17
= = e— = — in
8 8 8
Question 2.

A piece of cloth is 5 metre long. After washing, it shrinks by 31_3 of its length. What is the
length of the cloth after washing?

Solution:

Length of a piece of cloth =5 m-

After washing, it is shrinked

1
=‘2‘§0f5m=§m

Length of cloth after washing

o

25-1 24

5 5

(LN

m=4—m

Question 3.
1 3
| bought wheat worth Rs. 123, rice worth Rs. 251 and vegetables worth

1
Rs. 101. If | gave a hundred-rupee note to the shopkeeper; how much did he return to
me



Solution:

Money given to Shopkeeper = Rs. 100
Total Amount of goods bought

= Rs.(121+253+ ml]
2 T4 4

(Wheat, Rice and Vegetable)

_25 103 41

2 4 4

=50+1l’.13+41=RSﬂ
4 T4

- Money returned by shopkeeper

194 400 — 194
= Rs. (IOO—T] = Rs, 004

206 103 1
= ——=Rs,— = Rs.51—-.
4 Rs 2 2

Question 4.

Out of 500 oranges in a box, % are rotten and % are kept for some guests. How many
oranges are left in the box?
Solution:

Number of oranges = 500

3 _3
Bad oranges = 25 of 500= 75 * 500
= 60
1
Kept for guests = 3 of 500
= %x 500 = 100

. No of oranges which can be used
=500 — 60 — 100 = 500 — 160 = 340.

Question 5.

An ornament piece is made of gold and copper. Its total weight is 96g. If 11_:' of the
ornament hi copper, find the weight of gold in it.
Solution:

Total weight =96 g

Weight of copper = rl!f of 96

1
= "]"'"2“ % 96 = 8 gm
.~ Weight of gold = Total weight —
weight of copper = 96g — 8g = 88g



Question 6.
A girl did half of some work on Monday and one-third of it on Tuesday. How much will
she have to do on Wednesday in order to complete the work?
Solution:
Let total work done =1

1
Work done on Monday = 5

1
Work done on Tuesday = —

3

Work done on Wednesday =remaining
work

o1
Work done on Wednesday = P of

work

Question 7.

3

A man spends 3 of his money and 8 still has Rs. 720 left with him. How much money did
he have at first ?

Solution:

Let a man has money = Re. 1

3
Amount spent = 3 of Re. | =Rs.

83 o
8 €.

go | oo

o | W

Amount left=1-

5
3 of his total money = Rs. 720

T20x8
5
=Rs. 144 x § =Rs. 1152

. Total money = Rs.

Question 8.
b
In a school, 5 of the students are boys, and the number of girls is 100. Find the number



of boys.
Solution:
Let the total number of boys and girls =x

4x

Total number of boys = % of x= =

According to question, total strength of
School,
4x-
X-Z= 100
Sx—-4x

=100
5

%=1m = x = 500

- Number of boys = total strength — girls
= 500 — 100 = 400.

Question 9.

3
After finishing T of my journey, | find that 12 km of my journey is covered. How much
distance is still left to be covered ?

Solution:
Let the total journey = x,

distance covered = -z-= 12km
3
Then, according to question 2 of x=12km

4
x=l2x§ = x =16 km

Distance left = total distance — distance
cover = 16 — 12 = 4 km.

Question 10.
When Ajit travelled 15 km, he found that one-fourth of his journey was still left. What

was the full length of the journey?



Solution:
Let the total length of journey =
Journey travelled = 15 km

Journey still left = %of x

Now, according to question,

x—15= 10’:"::
X
J‘:—IS—4
X
-Z=15
*7%
4x—x=15
Ix=15=x4
x=15X4=2ka

.. Total length of the journey = 20 km.

Question 11.

Ina partlcular month, a man earns Rs. 7, 200 Out of this income, he spends m on

food, 1 on house rent, m on insurance and u on holidays. How much did he save in that
month ?

Solution:



Earning of a man in a particular month
=Rs. 7200

3
Amount spent on food = 0 of Rs. 7200

=Rs. 2160
Amount spent on house rent

1
=2 of Rs. 7200 =Rs. 1800

Amount spent on insurance

= 1—16 of Rs. 7200 = Rs. 720

Amount spent on holidays

2
= E of Rs. 7200

=Rs, 2 x 288 =Rs. 576

". Total amount spent=Rs. (2160 + 1800
+ 720+ 576) =Rs. 5256

. Amount saved = Rs. 7200 - Rs. 5256
=Rs. 1944

REVISION EXERCISE

Question 1.

5

3 2
Show that 7 lies between 5 and 7"



Solution:

2 5
will lie between ; and — if

=

7
2 <
5

~ |
v
~1|n
S
~1fu
M
~3|

Now, comparing

e Wi

2| w

3
] 7 3
L.CM. of 5 and 7 = 35
2 2x7 14

2
5
il‘ be 2 cI2
7 lies tweensan 7

Question 2.

Sh h iI' be i d-s'
nwtatsm tween4an 6"



Solution:

3 4 5 3 4 5
—}—}—gr—{—--:g

4 5 6 4 5
Now LC.M. of 4, 5, 6 = 60

45 48 50
o S —

60 60 60

4 5
Hence 5 lies between 2 and 6

Question 3.
Evaluate :

5 4 y I
22 12 3242
B3¢ -135 (9 SJ

(i)

Sl bW

(iid)
(v)

4 2 68 1 1]
PN . A § T
) 173 of 25 + 4 (

1 1
- {55223

Solution:

1a3 4 [33_12]
(1]36-—115— 9 '3

|
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o |~
4
e
—
c:-l“’
x
)
| =
S



B 19 2 8
6 15 9 5
345114 — 290+ 144

90

LCM. of 6,15,9,5=90

345+144-114-290 489 - 404
90 - 90

85 85:5 17

T 90 90:5 18

31 1
(i) 7 of 15 +4>

2 2
33,09
_40 2-}-2
9 9 '
-3+ (first remove ‘of”)
9 2 1
=== ¥ — = =
g8 9 4

37 1

(Jujﬁof4+§"1§

5 43,13
_604+8x2
5 7 3
28 %3 (first remove of)
5 8 3
=g X7 %5 (then remove +)
s '
14 14

7 :
iy (remove bracket)



8
X3 (remove <)

(0}1]30 ; -1'37'3

4
-—+ 3 (remove °x")




Question 4.

Mr. Mehra gave one-third of his money to his son, one-fifth of his money to his daughter
and the remaining amount to his wife. If his wife got Rs. 91,000, how much money did
Mr. Mehra have originally?

Solution:

Let Mr. Mehra has money = 1

|

Money given to his son =

1
and money given to his daughter = 3

". Remaining money given to his wife

_ 1.1
=1- 3 5§

7
T of his money = Rs. 91000

91000x15
7
= Rs. 13,000 x 15 = Rs. 1,95,000

*. Total money = Rs.

Question 5.
A sum of Rs. 84,000 is divided among three persons A, B and C. If A gets one-fourth of
it and B gets one-fifth of it; how much did C get ?
Solution:
Total money = Rs. 84,000

1
A gets = 2 of 84,000 = Rs. 21,000

1
B gets = g of 84,000 = Rs. 16,800

. C gets remaining money
. C’s share = Rs. 84,000 — (Rs. 21,000 + Rs.
16,800) -

= Rs. 84,000 — (37,800) = Rs. 46,200

Question 6.
2 1
In one hour Rohit walks 3% km. How much distance will he cover in 27 hours?



Solution:
2 17
Distance covered in 1 hour = 3; = 5 km

1
Distance covered in 2= hours

2
2 Ikm 17 5
= 44— ¥ — = e ¥ -
35 %23 s * 2
_7_ 1
T2 "2
Question 7.

1
An 84 m long string is cut into pieces each of length 55 m. How many pieces are
obtained ?

Solution:

Length of string = 84 m

21

1
Lengtlmfeachpim=5; m= " m

21

Number of pieces = 84 + )

=34x%=4x4:m

Question 8.

In buying a ready made shirt-two-fifths of my pocket money is spent If Rs. 540 is still left
with me, find :

(i) The money | had before | bought the shirt.

(ii) The emit of the shirt

Solution:



Let total money in the pocket = 1

Amount spent on shirt =

Now 3 of total money = Rs. 540

5
(i) . Total money = Rs. 540 x 3" 180 = 5

=Rs. 900

2
(ii) Cost of shirt = 3 of Rs. 900 =Rs. 2 % 180

= Rs. 360

Question 9.

Mohan leaves Rs. 1,20,000 to his wife and three children such that two-fifths of this
money is given to his wife and the remaining is distributed equally among the children.
Find, how much each child gets ?

Solution:

Total amount = Rs. 12,0,009

Amount given to his wife = 5 of Rs. 1,20,000

= Rs. 2 x 24,000 = Rs. 48,000

Remaining amount = Rs. 120000 — Rs. 48000 = Rs. 72000
This amount is distributed among three children equally.

Each’s share = Rs. 72,000 x% = Rs. 24,000

Question 10.
Simplify :
3

32 022 412
() 3g of27 +13

@i [1'731] >c:sl ar:ri—s
3 3 9

3 13 s
i 3 x 13 + 5 of2y

Solution:

32 of22 412
() 3g of23 + 173
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